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(A) (B) (A-B) (%) (A) (B) (A-B) (%)
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MR+ 15,909,399 13,808,145 2,101,254 73.0% |&2|l2gH| 2,261,643 3,293,208 A1,031,565[  10.4%
nsRs 823,000 715,000 108,000 3.8% |dTEH4AH| 13,478,095 12,664,240 813,855 61.9%
nsel 1,340,000 525,000 815,000 6.2% |nS2H|E 25,000 10,000 15,000 0.1%
FXI2b7 | EFRFARE R 1,000,005 2,000,005 A1,000,000 46% |H&E2 0 0 ofl 0.0%
DE ALY 2b = 1 1 0 0.0% o] 0 100,000 A100,000 0.0%
nyExedF 1 1 of 0.0% |FXIAI|EIXIMXIE 1,124,585 813,935 310,650 5.2%
=P, 1,887,030 1,358,874 528,156 8.7% ESPN S SIS 1,272,004 485,006 786,998 5.8%
TSR Abst 1 1 0 0.0%
7|0 At 636,126 0
g A 21,785,436 19,848,026 1,937,410| 100.0% g A 21,785,436 19,848,026 1,937,410 100.0%
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2220 1 1
JIEt D& 27
2221 YHEZ 34 1 1 SIAE AN 10,000,000
BIEDE 1,887,030 1,358,874 528,156
1100 ) o84 62
s 973,443 1,688,819 1,284,624
1110 RSX3 2,810,863 1,604,168 1,206,695 . HUE 0123 2,810,863,000
1120 JIEFR S XHA 162,580 84,651 77,920| . UGS H2PON B3 S 162,580,000
ol a g 310 1,086,413 329,945 756,468
= Pizssta 0 : :
ST 2120 0142 522,841 185,664 337,177 . HEE 022 522,841,000
ERE 2130 d43 217,847 144,281 73,566| . MUE JIEHH 23 217,847,000
2140 JIEtR S 2 345,725 345,725 . HUE JIEIRSE 345,725,000
X2 o+ g 5 A 21,785,436 19,848,026 1,937,410
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2?2_5)5'_3,: 677,154 707,874 A 30,720
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| 406,709,000
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[s141] =80 Uitz 2,000,000

JIEt RS URE 4,000,000
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4219 JIEHA & 22| 8,000 5,000 3.000. D44 2ol 8,000,000

‘c:ij%w' 524,626 197,000 327,626

4221 O1HI D EH| 92,500 50,000 42,500|1. AIQ4a QAI&SE SO 35,000,000

[88] AFQ2IR ETOlY) 50,000,000

JIEt 2UEZ ot 7,500,000

S| 92,500,000

4223 AR EY| 33,000 15,000 18,000[1. 2£J|2 HHALE ADE 23,000,000

(8] Al 2131 ADE 10,000,000

g 33,000,000

4224 QI ST Y| 15,000 25,000 £10,000|1. R&IIZ BHR2 o4yl 13,000,000
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= = 2,000,000
15,000,000
el 70,000 30,000 40,000|. 70,000,000
®I|.452 290,000 40,000 250,000|. 290,000,000
sl 1,000 1,000 SMEH ABE 1,000,000
H222D 11,126 11,000 126 4,126,000
NEEEER 7,000,000
11,126,000
N24+2 12,000 25,000 £13,000|. 12,000,000
iﬁgul 493,299 799,680 £306,381

SEIESTE] 5,000 5,000 = 2,000,000
= 3,000,000
8 5,000,000
mEEEN 40,800 106,400 65,600 1,000,000
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2. ®bfel ASHI K] 15,000,000
3. ®£012 2H DY) 20,000,000
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4331 LAISE 4,000 3,000 1,000, YSHE YA+ 4,000,000
4332 LA Z Y| 64,000 57,000 7000[1. YAIEE U L5 2] 15,000,000
2. 8A U PHRYS MEY] 30,000,000
3. QEY ANEL ASt22E 10,000,000
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4421 T4 25,000 10,000 15,000{. &J| 0lQlo| &al 25,000,000
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4610
ST 100,000 100,000
4611 OilUIb| 100,000 ~100,000. oiHIHI
1200
I T 1,124,585 813,935 310,650
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S X RHAKI &
1221 EXNRINIEANL 1 1 = 1,000
1240 1 1
I ERHA K| &
1242 YN SE2X S 1 1 == 1,000
lzli?m:mal 1,124,583 813,933 310,650
1263 2oA=I 2N EY 665,000 245,169 419,831|. A=J2HY 665,000,000
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1315 &I U= 02 bl 173,000 10,001 162999|. [&H41] 8t o #HE FI| P 173,000,000
1316 XS04 ] 1 1 == 1,000
1317 S AL 50,000 15,001 34,999|. [S41] AATA L T P 50,000,000
1319 H&I1H i 1 == 1,000
2200 1 1
DELTA B
2220 1 1
JIE DT
2221 YR E3 &2 1 1 . E2 1,000
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0l A 2 ;}?ﬁg%ﬂ& 636, 126 636, 126
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ERE 1120 JIEFRSXHat
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